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Vol =
FER N E
TH4 | R6EHEKFEEB JIFEMXEgERET (202 8) 4 1LE
TSy « TfE - FER B {7 ¥ & & # A bl A iR
JERRH R X 1 91, 647, 973
EHET = 1 1, 489, 214
HRHEI T = 1 63,214 |#EH! 130 m3
LY A7 iy b FRLE PEEME 5, 000m3AH ;
A 10 m3
a7 b BEEM 1, 000m3AH ;
BEARRE AT = 1 1,426,000 |B&{A (BLE) R+ 250 m3
2. bmAT ;
IR = 1 10, 584, 535
T/h-T 2 1 10, 584, 535 | 7/h—-TLAEHE (7/8-) 1 X
HIFL (778-) 27 m
Mg 90mm (WE L - 5L
HIFL (778-) 59 m
HiftE 90mm (VFE 1)
HIFL (778-) 153 m
PAE 90mm (A ;
TUR—GRRA N L - RS - 45 A - BRI - GE A - SHERALER (7/h-) 21 %N
VANUINEUN m3
VYAV - i =
&Y (T/-) 1 =X
PRE T = 1 53, 355, 044
e+ T 2 1 453,148 |FRIE D (EHI) 1 X
+4)
RIE O (RED) 1 X
o
i 1 =X
+4)
HEL 1 X
T wb AT 1 =X
0 Cabl- EAIRY £ET) .
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Vol =
FER N E
TH4 | R6EHEKFEEB JIFEMXEgERET (202 8) 4 1LE
TSy « TfE - FER B {7 ¥ & & # A bl A iR
BT FTHL T 2 1 20, 378, 420 | BFTETHL 2 N
Bt 424mm FLE GXEHE) 11.5m (300X 300,
SAHI6mER) ;
ETFI AL 6 N
BiEE 424mm B GEEHE) 12m (300X 300, BH
Hi6mia) ;
ETFI AL 6 N
Bt 424mm Pk GXEHE) 12. 5m (300 X 300,
SAHI6mER) ;
FR[EEVV 2 m3
133 @l
R HRE - fiE 1 =X
2% 1 =X
TR DEET 2 1 32,523,476 | %) Lav))-} 33 m2
18-8-40 (FJF) W/CHEEML #JZ 10cm ;
Fetfgav ) -h 28 m
24-12-25(20) (&JF) ;
THE HEE 214 m2
Bl HT Ruiav - 10 m3
24-12-25(20) G&JF) ;
EEEET = 1 199, 141
TA7 7 M2 T = 1 199, 141 | Tk (s - BRE ) 74 m2
FEITyYr77 RC-40 A VW E 150mm ;
g (I - BIF ) 74 m2
AR A2 (20) AH%5/E 50mm 1. 4mPd |3
.OmELF
X R T 2 1 10, 449
X IR T 2 1 10, 449 | A RL=C X R 30 m
RETFE) FE 15em JE 1. Smm HEKPE A LG 4
FRIE D T = 1 2,536, 880
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s Sefe =
FEAENGRE
T4 | R6FEEREEIB JIFHMXEET (2028) 4 1T%
= S N O A | B Az ¥ = & #A #m il N BN
FR[E D7 ny) T =Y 1 2,536,880 |[fR[E D7 ny)Paft 38 ]
W7 my) 7Ty )RR (REE) 2t 7 wysliEA
H;
SN AL T =Y 1 8,018, 750
IEALBREE T Y 1 8,018,750 |IAWERE 1 =
HEYE T Y 1 1, 886, 028
[ = T 2 1 47,876 | BHEEMHRE (7 =1 V) 1 F2V
s EEE L T Y 1 1,029,535 |av))-MEEWEEE L 123 m3
MRS B T
ELERR O W 1 F2V
TAT 7V MEHEERR 15emPA T
A IR A 59 m2
TAT7VMEHEERR AH2ERRJE 15cm ;
TE LB T =Y 1 808, 617 | BoE M 9 m3
TAT7IV NS
i SLikiing 123 m3
20—k (RS
RSy 9 m3
TAT7IV NS
RISy 123 m3
20—k (BERR)
L5y 0.5 t
ALTH3 ;
A Y 1 13, 567, 932
AN L = 1 308, 100 |{axBhEEM (fds - FFakiE) 30 m
R T Y 1 888, 750 | EMAMIK AT 75 m2
E7cem ;
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T4 | R6FEEREEIB JIFHMXEET (2028) 4 1T%
TEHX4y « Tfd - FER B Az W B & HH i il A R
SRR AT = 1 10, 687, 722 | MRAH3Z [ EAR 78 H
(11000 1000 X t110 ;
PR AL (W) 1 =
HilL 187 m
THEEHFR ¢90mm VIE L
HilL 30 m
ZEEFA 6 90mm #UE ;
EZTIZEC N 17 FN
2.0mPAF ;
EZTIZEC N 19 FN
2. 0m#B3. OmLL T
EZTIZEC N 42 FN
3. OmiEB4. OmLL T ;
VAVUISEDN 2 m3
BRI e 78 7N
HIFLBE [E & VA Y-ty b 1 =
HIFLESHR AT - s 1 X
AEEHE T Y 1 1, 683,360 | AZ1H 5 EZE S 1 =
[ERAE Xy = 1 91, 647, 973
HiE 2 1 13, 178, 000
Mo R 2 = 1 913, 000
BGRESCGES (5 1) = 1 913, 000
B (FEHL) = 1 12, 265, 000
T = 1 104, 825, 973
Bl gy 2 1 39, 536, 000
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R PERE
THE4 | R6EIEKEFEEIA JIFHIXHRET (202 8) 4 LH
THEXSy - THE - FE5 H7 & & # i Gl N
T AT 2V 1 221, 183, 859
— e PR A E20 1 33, 776, 141
Tk 2V 1 254, 960, 000
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T4 | R6FEEREEIB JIFHMXEET (2028) 4 1T%
TEHX4y « Tfd - FER B Az £ & #A i il A R
JE O R = 13, 431, 404
SN AL T =Y 8,018, 750
S BLERESE T Y 8,018,750 |InAafEE 1 =
A Y 5,412, 654
TEHERKT Y 3,729,294 | LHEHEKHK L 470 m3
(FxE)
4. omPh Lk
HOF 778 m2
(FxE)
RC-40 ¥J& 100mm ;
+o3 283 9%
(RELtD S, FE)
¢ 110 (GLBY) X 110cm FHIERR (34E) kHits ;
B EHT = 1,683,360 | ACiEAE Elm E 1 =
[ERAE Xy = 13, 431, 404
HiE = 2,998, 281
BISTIGE: = 821, 281
Hefif & = 624, 281 |{kiRE 1 =
ARy 1 =
BGRESCGES (5 1) = 197, 000
B (FEHL) = 2,177, 000
T = 16, 429, 685
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R PERE
THE4 | R6EIEKEFEEIA JIFHIXHRET (202 8) 4 LH
THEXSy - THE - FE5 H7 & & # i Gl 2 N
e R E20 1 6, 810, 000
T AT 2V 1 23, 239, 685
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W\ AR AR HT 75 3

TH4 | R6EHEKFEEB JIFEMXEgERET (202 8) 4 1LE
TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
JERRH R X 1 34, 548, 201
HEELT = 1 5, 461, 595
HRHEI T =X 1 70, 560 | HfEH! 200 m3
/Y A7 iy PR PEEME 5, 000m3ATH ;
AR T =X 1 5,184,554 | BEIR (FLtR) R& 1 5 m3
2. 5mAT ;
BRI (Bite) R+ 280 m3
2. 5mPL 4. OmARTi ;
BRI (Bite) R+ 1, 300 m3
4. 0mPL E
b 1, 540 m3
0 CaBl- EHIRY £5Te) ;
FHIA Ob-27) 1, 500 m3
+Hw 550, 000m3 AT ;
T L =V 1 206,481 | VLI (W) 1-#5) 9 m2
BGHROE VP R OWE + e+
T (B ) 470 m2
T i S O I BRI
HEKHEEY T = 1 148, 212
e+ T X 1 9,506 |R{EY 1 X
+4)
HEL 1 2V
FLE e 1 =
AR T = 1 94, 435 | 7" VERyANUBMRING: 7 m
(P 2R
300X 300 ;
illes= 5 r5e
(PEE )
300 41.2%9.5%X50 ;
BT =X 1 44,271 | RFIRHEKE 9 m
(4 300)
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s Sefe =
FEAENGRE
T4 | R6FEEREEIB JIFHMXEET (2028) 4 1T%
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
PEFT RS 200~400mm
Ak T = 1 9, 430, 962
TAT 7 MRS T = 1 9,430,962 | TJ@E KM (FE - BEH) 2, 050 m2
BTy r77 RC-40 A VW E 100mm ;
TE g 1, 690 m2
(b))
RC-40 t=100mm ;
=8 (§E - BEE) 2,010 m2
TR g R EET A2y (13) 422 50mm 3. OmiZ ;
EIE 1, 700 m2
(b))
FABRLET Ay (13) #fi%E/E 50mm ;
X R T = 1 588, 627
X H R T = 1 588, 627 | VAR X HR 1, 690 m
WA FE) R 15em JEL Smm PEAKMEEHIEHE
SN AL T =Y 1 8,018, 750
JNRLERVESE T = 1 8,018, 750 |jAafEE 1 =
HEYE T Y 1 22,785
HEYHE L T Y 1 10, 193 | &l hi )T 1 2V
) -MHEERR 15emPL T
A IR A 21 m2
29 ) - MR EEERE 10cm
TE M L T =Y 1 12,592 | ZRiEH 2 m3
20—k (BERR)
RISy 2 m3
20—k (SRR

TAZIEE LN )R




[REAS IR\ AT SCASHT P4 1

s foAs =
FEAENGRE
T4 | R6FEEREEIB JIFHMXEET (2028) 4 1T%
TEHX4y « Tfd - FER B Az W B & #A i il N BN
A = 1 10, 877, 270
Ak T = 1 5,405, 180 | i%Bh M 151 m
(FiE)
THEHER T = 1 4,685,850 |+ ™9 445 1~
(RAELtD S, FE)
¢ 110 (GLBY) X 110cm FHIERR (34E) kHits ;
AEEHE T Y 1 786, 240 | AZ Wk B Y B 1 =
[ERAE Xy = 1 34, 548, 201
HiE 2 2 1 4, 839, 000
BISTIGE: = 1 607, 000
HeffrE sy = 1 186,000 |HWEFHAEE 1 =
BGRESGESE (5 L) = 1 421, 000
B (FEHL) = 1 4,232, 000
T = 1 39, 387, 201
Bl gy 2 1 14, 195, 000
T =5l = 1 53, 582, 201
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